This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 10 - Helensburgh Central

3,947

4

790

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
James ALEXANDER-ROBB		88
Sarah DAVIES	Scottish Greens - Think Global Act Local	268
Graham HARDIE	Scottish Liberal Democrats	440
Fiona HOWARD	Scottish Labour Party	841
Ian James MACQUIRE	Scottish National Party (SNP)	843
Gary MULVANEY	Scottish Conservative and Unionist	1,205
Alison WILLMOT	Scottish Conservative and Unionist	262
	Total	3,947

Candidate Fiona HOWARD Elected with 841 votes, being in excess of the quota of 790 Candidate Ian James MACQUIRE Elected with 843 votes, being in excess of the quota of 790 Candidate Gary MULVANEY Elected with 1,205 votes, being in excess of the quota of 790

Action	No. of Ball Papers	

This report contains the transfers results.

# Stage 3 - Surplus of Ian James MACQUIRE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALEXANDER-ROBB	43	0.06287	2.70341
Transfer to Sarah DAVIES	501	0.06287	31.49787
Transfer to Graham HARDIE	93	0.06287	5.84691
Transfer to Alison WILLMOT	17	0.06287	1.06879
No further preference	189	0.06287	11.88243
Not transferred due to rounding			0.00059
	Total		53.00000

This report contains the transfers results.

# Stage 4 - Surplus of Fiona HOWARD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James ALEXANDER-ROBB	47	0.06064	2.85008
Transfer to Sarah DAVIES	142	0.06064	8.61088
Transfer to Graham HARDIE	327	0.06064	19.82928
Transfer to Alison WILLMOT	119	0.06064	7.21616
No further preference	206	0.06064	12.49184
Not transferred due to rounding			0.00176
	Total		51.00000

This report contains the transfers results.

## Stage 5 - Exclusion of James ALEXANDER-ROBB

<u> </u>			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah DAVIES	25	1.00000	25.00000
Transfer to Graham HARDIE	22	1.00000	22.00000
Transfer to Alison WILLMOT	14	1.00000	14.00000
Transfer to Graham HARDIE	5	0.34439	1.72195
Transfer to Alison WILLMOT	8	0.34439	2.75512
Transfer to Sarah DAVIES	27	0.06287	1.69749
Transfer to Graham HARDIE	5	0.06287	0.31435
Transfer to Sarah DAVIES	9	0.06064	0.54576
Transfer to Graham HARDIE	20	0.06064	1.21280
Transfer to Alison WILLMOT	1	0.06064	0.06064
No further preference	27	1.00000	27.00000
No further preference	2	0.34439	0.68878
No further preference	11	0.06287	0.69157
No further preference	17	0.06064	1.03088
Not transferred due to rounding			0.00000
	Total		98.71934

This report contains the transfers results.

## Stage 6 - Exclusion of Sarah DAVIES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham HARDIE	165	1.00000	165.00000
Transfer to Alison WILLMOT	16	1.00000	16.00000
Transfer to Graham HARDIE	5	0.34439	1.72195
Transfer to Alison WILLMOT	5	0.34439	1.72195
Transfer to Graham HARDIE	227	0.06287	14.27149
Transfer to Alison WILLMOT	7	0.06287	0.44009
Transfer to Graham HARDIE	68	0.06064	4.12352
Transfer to Alison WILLMOT	5	0.06064	0.30320
No further preference	112	1.00000	112.00000
No further preference	8	0.34439	2.75512
No further preference	294	0.06287	18.48378
No further preference	78	0.06064	4.72992
Not transferred due to rounding			0.00000
	Total		341.55102

This report contains the transfers results.

# Stage 7 - Exclusion of Alison WILLMOT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graham HARDIE	121	1.00000	121.00000
Transfer to Graham HARDIE	486	0.34439	167.37354
Transfer to Graham HARDIE	13	0.06287	0.81731
Transfer to Graham HARDIE	71	0.06064	4.30544
No further preference	171	1.00000	171.00000
No further preference	514	0.34439	177.01646
No further preference	11	0.06287	0.69157
No further preference	54	0.06064	3.27456
Not transferred due to rounding			0.00000
	Total		645.47888